5

iR DB ERER

(BfI: 4y Sv/h)

HI == = th:‘l m
NO /ﬂ“ﬂi E ﬂf’,E% ﬁﬁnx% %&iﬂ EEEL\-F {,ﬂ“i% Et&
1 88 13H m&rdEAYORT| 0.06 - - -
2 8A1H & YoE-3- 0.07 - 0.07 -
3 8A21H HI7UEE 0.09 - 0.06 0.07
4 8A5H MERHRE XA 0.05 0.06 - -
5 8HA5H " Foy Y /N 0.07 0.08 0.07 0.07
5 th (X
6 8A5H R KRR 0.07 - - -
7 885H IB KRB/ 0.07 - 0.07 0.07
8 885H tEX| HHEERBR 0.06 0.06 0.06 0.07
(BAfiz: uSv/h)
_ HE1m
No HlER X4 HEER ;
8 i |MEWT| BE | =
1 8H26H &AL AYORT| 0.06 - - -
2 8A15H & YoE-3- 0.07 - 0.07 -
3 8A27H HI7UEE 0.09 - 0.07 0.06
4 88228 MERHRE XA 0.06 0.06 - -
5 8H22H " Foy Y /N 0.07 0.08 0.08 0.08
51 X
6 88228 e KRR 0.07 - - -
7 8H22H IB KRB/ 0.07 - 0.07 0.08
8 8A22H || [HEEENEKR 0.06 0.06 0.07 0.07




